SQO W % K Ve i FH

@ #5

[ MEHE, A R0 BAR T

Mk % it # ok 4t
=
® & A6
® 4K T Aesh R P 6 bR
a
b g a ba A
N b T A
T . T c thems
o \ d Ak 8 £ A
c ¢ PR Bk T
@ X, R~FAHBEEE
1 L1 9+1
A 6.4+0.3
1 ' '
* * 9+1
6.4+0.3
L $Q02,8Q04,8Q07 $Q07,8Q09
3513 3513 SQO7A $Q010,8Q012
qg | FESE R (mm) LA (D)
- o
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SQO2 2.5W 15 35 0.8 R0025 5K
SQO4 4W 18 40 0.8 R003 5K
SQO5 5W 25 45 0.8/1.0 R003 5K
SQO7 7TW 25 45 0.8/1.0 R003 10K
SQO7A 7TW 38 60 0.8/1.0 R0O04 10K
SQO9 W 38 60 0.8/1.0 R004 10K
SQO10 10W 38 60 1.0 R004 10K
SQO12 12W 50 70 1.0 R00S 15K
SQO15 15W 75 95 1.0 R00S 15K
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